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Tl | FHEBHE Tl | FHEBHE Tl | FHEBHE Tl | FHEBR
HRETH A 0 (A/m) (%) £ (A/m) (%) £ (A/m) (%) £ (A/m) (%)
TR 9 108,500 01| 2 166,000 06 11 119,000 0.1
X 10 171,100 15| 3 221,300 09 13 182,700 14
KER 9 238,800 20| 6| 1,148500 40 15 602,700 2.7
iR 13 128,400 03| 1 280,000 — 14 139,200 03
kR 7 236,400 15 5 363,600 13 12 289,400 15
X 7 143,400 02 1 185,000 - 8 148,600 02
SRR 9 298,600 26| 6 612,500 43 15 424,100 3.2
X 11 225,100 21| 3 404,000 3.2 14 263,400 2.2
BX 15 160,100 07| 1 218,000 — 16 163,700 0.7
EHX 8 92,200 00| 2 129,400 00| 1 50,500 50[ 11 95,100 05
X% 5| 98 178,200 11 29 529,300 28/ 2 117,800 50| 129 256,200 14
T 25 128,000 03] 8 323,600 18] 1 48,600 38| 34 171,700 0.7
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AR 25 160,800 08| 6 368,300 0.9 31 201,000 0.8
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AFETH 12 35,000 A0Sl 4 64,300 A07| 1 18,300 - 17 40,900 A06
B 9 59,200 00| 2 117,000 A07| 1 39,100 86| 12 67,200 0.6
E0&H 17 81,900 A02| 4 149,200 A 01 1 52,600 42| 22 92,800 0.1
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AT 24 129,400 09| 7 275,900 02 31 162,400 07
BT 3 230,000 09| 1 542,000 00 4 308,000 0.7
EE 8 238,900 13| 3 313,000 12| 2 153,500 00| 13 242,800 10
AR 13 103,300 XIE 213,000 00| 1 71,000 96| 15 108,400 0.7
s 8 211,800 12 1 531,000 19 1 112,000 09| 10 233,800 12
KT 6 202,500 07| 1 252,000 0.4 7 209,600 0.7
O 5 211,800 17] 364,000 03 6 237,200 15
R 11 183,100 05| 1 634,000 16 12 220,700 06
1811 6 86,300 AO1| 1 161,000 00| 1 42,200 55| 8 90,100 06
A= 15 59,000 00| 2 91,000 00| 1 47,800 48| 18 62,000 02
A 6 81,100 A02 1 111,000 00| 1 44,000 —| s 80,200 A0
J\ERH 8 108,900 02| 2 201,500 00| 2 96,800 21| 12 122,300 0.4
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By B 5 84,900 A02 1 182,000 00| 1 60,600 - 7 95,300 A02
A 5 52,400 A06| 1 77,500 A06| 1 47,200 - 7 55,200 A 06
=11/ 5 99,200 02| 1 206,000 AO05 2 59,700 09| 8 102,700 02
A CAHBTH 6 171,300 IR 176,000 1.1 7 172,000 1.1
BEs 3 86,300 00| 1 141,000 00| 1 48,400 45/ 5 89,700 09
frEt (RS 463 109,800 01| o7 229,500 02| 36 59,200 31| 596 126,200 03
MEt (SEaT) 561 121,700 03| 126 298,500 06| 38 62,300 32| 725 149,300 0.4
(BESET 4 84,400 03 1 49,000 - s 77,300 03
=3 3 144,300 07 3 144,300 07
£ 2 LT 4 40,100 A6 1 65,200 Al 5 45,100 Al5
AT 4 30,900 A1 4 30,900 A1
38 1| 5 49,800 A04 5 49,800 A04
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1| 2T 2 28,500 A 09 2 42,900 38 4 35,700 0.7
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E AT 4 17,900 A 21 1 31,600 A19 5 20,600 A 21
INEEERET 5 14,900 A12] 1 31,300 A 22 6 17,600 A 14
A 3 9,400 A 14 3 9,400 A 14
£ EAT 4 14,600 A19 4 14,600 A 19
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& & 650 110,000 0.1] 136 279,700 05 43 59,700 3.1] 829 135,200 0.3
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